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g (170) A2Ad0ase  MEh(173) ERAIHEER234Y  =:(02) ERAHEEZ234 Y (Tl - )
= = o aey [0 B2y
-8 N = of 4 o
100 Z2&+¢ 26,229,753 | 20,582,753 5,647,000
170 A2Yoa+ 23,000,000 17,703,000 5,297,000
173 ElRAHEERZ Y 22,800,000 | 17,503,000 5,297,000
02 ERAHEEZIZSY 5,812,000 1,000,000 4,812,000
O st Sd 22| A HHAY 3,000,000
o AlH]| 3,000,000,000¢! x 14/ = 3,000,000
O HYO|2 St 2|27 HAXME| Ald HR|ALY 1,812,000
o AlH| 1,812,000,000& x 14l = 1,812,000
03 AlEHEZZ4Y 747,000 262,000 485,000
O 85, ¥s st Rd YRAALSAHAAY ) 75,000
o EH| 75,000,000% x 14| = 75,000
O 8Ys, ¥ ARYA| ATt HHHSAHEEZREUES) 300,000
o EH| 300,000,000 x 14| = 300,000
O Hi-HI 2 FR| 2| (ALt EN) 110,000
o &ZH 110,000,000% x 14| = 110,000
180 FEAIZ 3,229,753 2,879,753 350,000
182 O|&& 1,700,000 1,350,000 350,000
01 JYoe=z 300,000 150,000 150,000
O HUE S4EABR 0|43
%% 300,000,0009 - 7|3 150,000,000% = 150,000
02 7[etolex3 1,400,000 1,200,000 200,000
O d = ARIZAEEZF 0|7
44 1,400,000,0004 - 7|14 1,200,000,000%¥ = 200,000




